ASS. REC. BY: Marcus REF: CS/A	9123006835/Ung3
	SIGNMENT
Date	Veh No: SLR 68+26 Yr Regn: 24/08/1
From:	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
Estimated Cost:	Truck / Trailer or (A)
OD /TPY WS / TP RES / OD RES / EVA / INV / MV	44/
To Inspect Vehicle No: SLR GRICG	7 39/11 10 12 1 1/2/1/1/1/14
at Workshop m/s S) endueliz	0010di /200
of	Uphilodaling 12300
Insured: SMG BUYSS	Eng/No:
Policy No.	C/No: JN17AAE12209751
Claims No.	Gen. Cond: Sood / Fair / Poor / Burnt
Sum Insured: Excess:	Steering: Inorder / Jammed / Leaked / Burnt or
(Client's Record)	Brake: Inorder / Jammed / Leaked / Burnt or
Make of Veh:	Modi: Nil SRim / STD A/Rim or
	Tyre Size: F: /fs/15n15
(Policy Condition)	Tyre Size: F: /fs/65-ncs R: Progreen
Remark: The veh had commenced its N/S 0/S	BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI /
repair at the time of inspection.	TOYO / YOKO or
Bal. or Market Value:	Front 6 Rear
IDAC Accident Rport: Consistent? : Yes or No	R/Bal. mm R/Bal. mm
GIA / PR Seen: Consistent? : Yes or No	L/Bal. 6 mm L/Bal. 6 mm
Est. Repairs: S days Res.: Yes or No	D.O.A. 05/07/23 D.O.I. 6/7/27
Lum Sum: 20 % 3 Val.: Yes or No	Survey held at
CA / REV / REP. / 24 HRS * PA	Des. of Damages : Frt / Rear / O/S / N/S / U/C / Rooftop or
Vehicle: IN / Ou	
Date: Person Contacted: LTA & LUEZ-	The U/C / Chassis frame / Body Structure affected due to collision
Date / Time Action / Instruction On 12/4.	le a de
17/23 4/5 \$ 6000 informs	kent
(Red. \$ 10	,100.47, 62%)
	7100 1 7 02 7
Date/Time, File Pass to? : Preli. Report	Days Of Repair: 5
1) : Final Report	Resurvey No. of Trip: Survey Fee:
Date/Time, File Return to?	Transportation:
2) Add F	
	: Interview (\$) Photos
Report Format :	: Tech. Invs (\$) Others
Report Format : Lump Sum / I.B.I: (\$: Tech. Invs (\$) Others

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	
Owner ID Type:	Singapore NRIC
Owner ID: Vehicle Details	849A
Vehicle No.:	SLR6852G
Vehicle to be Exported:	No
Intended Deregistration Date:	05 Jul 2023
Vehicle Make:	NISSAN
Vehicle Model:	NOTE 1.2 CVT
Primary Colour:	Red
Manufacturing Year:	2017
Engine No.:	HR12260140B
Chassis No.:	JN1TAAE12Z0975122
Maximum Power Output:	58.0 kW (77 bhp)
Open Market Value:	\$13,752.00
Original Registration Date:	24 Aug 2017
First Registration Date:	24 Aug 2017
Transfer Count:	1
Actual ARF Paid: Intended PARF Rebate Details	\$5,000.00 \\$ \$\$
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	23 Aug 2027
PARF Rebate Amount: Intended COE Rebate Details	\$3,500.00
COE Expiry Date:	23 Aug 2027
COE Category:	A - Car up to 1600cc & 97kW (130bhp)
COE Period(Years):	10
QP Paid:	\$46,778.00
COE Rebate Amount:	\$19,327.00
Total Rebate Amount:	\$22,827.00

The information contained herein is correct as at 05 Jul 2023

sgcarmart

Post an Ad

Articles Forum Resources New Cars Used Cars **Products** Insurance Car Loan **Rental Cars** Sell Cars Directory

> Post an Advertisement Sell it vourself! Advertise it at just \$68 until it's SOLD!

> > Ways of Selling

Advertiser Login

Low Interest Rate In-House Loan by GV Cars Financing



Feasible In-House Loan by GV Cars Financing at 3.28% p.a. Low Interest Rate. GV Automobile Centre StarAd



Sort by Date Posted ✓ 20 ✓ results/page Advanced Search Search 6 vehicles Any Category Nissan Note Status Eng Cap Veh Type Reg Date Depreciation Make Model Price Any Available Search Selection Nissan Note Any Any 2017 Any Any \$54,000 \$12,920 /yr 30-Jun-2017 1,198 cc 78,198 km Hatchback Available Nissan Note 1.2A Low mileage, smooth and fuel-efficient engine, very low maintenance cost. Comes with 12 months comprehensive warranty. Posted: 04-Jul-2023 24-Oct-2017 1,198 cc 87,000 km Hatchback Available \$59,800 \$13,310 /yr Nissan Note 1.2A



1 Owner. Excellent condition, No Repair Needed, Can Full Loan, Accident Free, Driveaway Today Now! Call For Viewing. Oscars Auto

Posted: 30-Jun-2023



1,198 cc 57,000 km Hatchback **Available** \$45,800 \$11,660 /yr 23-Mar-2017 Nissan Note 1.2A DIG-S (OPC) Convert To Normal Plate At \$51800, Original Condition, Well Maintained, High Loan Available, Trade In Welcome, Call Now For Viewing. ABWIN (1994) Pte Ltd

Posted: 28-Jun-2023



Hatchback \$50,800 \$11,750 /yr 15-Aug-2017 1,200 cc 37.337 km Nissan Note 1.2A (OPC) Most easy to maintain Japanese car & most economy car to drive and fast selling hatchback model in the market now, able to convert to...

Ka-Hup Vehicles Trading

Posted: 24-Jun-2023



Air Filter (Nissan Note) Air Filter for Nissan Note E11.

More info about this product



15-Jun-2017 1,198 cc 90,489 km Hatchback Available \$54.800 \$13,220 /vr Nissan Note 1.2A DIG-S Specially For Hatchback Lovers, Eye-Catching Pearl White Note 1.2A ("DIG-S" Model With Enhanced 96 BHP Super-Charged Engine). Am... Lake View Credit Pte Ltd

Posted: 18-Jun-2023



Nissan Note 1.2A

\$49,500

\$13,330 /yr

13-Jan-2017

1,198 cc 79,000 km Hatchback

Available PREMIUM AD

Available

This agent serviced Nissan Note offers excellent fuel efficiency, a spacious interior, versatile cargo capacity, and a user-friendly infotain...

Posted: 14-Jun-2023

Compare

Save this search criteria, to get email alerts whenever a match is found.

SPEEDWERKZ PRIVATE LIMITED

6 Kaki Bukit Avenue #01-73, AUTOBAY, Singapore 417883 Tel: 96195936 / info@speedwerkz.biz

VEHICLE NUMBER: SLR6852G

MAKE & MODEL: NISSAN NOTE 1.2 CVT

DOA: 05/07/2023 CLAIM TYPE: TP CLAIM 00+ Adjust 6/7/23

4/5 4 6000/ Says

ESTIMATION QUOTE

		NETT IFM	
PARTS	QTY	PRICE (\$)	REMARKS
REAR BOOTLID 1242-30	1	\$1,428.50	Bedy DD -
REAR BOOTLID INNER LOCK / jos-20	1	\$221.30	1m1/DAC -
REAR BOOTLID LOCK CATCH	1	\$67.50	ANX
REAR BOOTLID CENTRE GARNISH	1	\$284.10	MAX
REAR BOOTLID HANDLE	1	\$166.30	11 ×
REAR BOOTLID NUMBER PLATE LIGHT @ 59.20	2	\$118.40	11 X
REAR BOOT COVER EMBLEM (PURE DRIVE DIG-5)	1	\$115.00	NZX
REAR NOTE EMBLEM 72-10	1	\$105.20	11.
REAR LOGO	1	\$80.30	Nes -
BOOTLID BOARD	1	\$205.90	m X
REAR WIPER MOTOR	1	\$543.40	11 X
REAR BUMPER SYS. 20	1	\$1,289.90	215-
REAR BUMPER BRACKET @ 121.00	2	\$242.00	0/5 20 126
REAR BUMPER SIDE RETAINER @ 46.20	2	\$92.40	3114
REAR BUMPER REFLECTOR @ 47.50	2	\$95.00	che -
REAR FENDER RH	1	\$1,139.80	RX
REAR FENDER UNDER SHIELD @ 61.40	2	\$122.80	MYX
REAR FENDER INNER TRIM @ 499.40	2	\$998.80	Delian-
REAR END PANEL \$97.60	1	\$663.00	Book m-
REAR END PANEL TOP COVER	1	\$114.00	Tun -
REAR BOOT RUBBER	1	\$93.50	7~1
TAILLAMP @ 426.40 YIS x2= 830	2	\$852.80	one -
TAILLAMP PANEL @ 222.40	2	\$444.80	RX
REAR SPARE TYRE BOARD PANEL	1	\$720.70	RX
REAR EXHAUST PIPE	1	\$633.60	11%
REAR EXHAUST HEAT INSULATION PANEL	1	\$143.50	MX
REAR TOOL TRAY Sponge	1	\$174.00	torn -
REAR TOOL TRAY TOP COVER 468-30	1	\$493.40	Toral
REAR WINDSCREEN GLASS MOULDING	1	\$78.40	14 -

\$11,728.30

Less 10 %

\$1,172.83

Sub Total

\$10,555.47

SPECIAL NETT ITEMS	QTY	PRICE (\$)	REMARKS
REAR NUMBER PLATE	1	\$45.00	SU1 40
REAR FENDER INNER TRIM CLIP @ 50.00	2	\$100.00	11 X
REAR END PANEL TOP COVER CLIP	1	\$40.00	MAX
REAR REVERSING SENSOR	1 cet	\$350.00	molfrection 2

REAR CAMERA	1	\$650.00
REAR BOOTH BOARD CLIP bumper class	1 84	\$80.00 per 4
REAR WINDSCREEN GLASS SEALANT	1	\$80.00 11, 40

Sub Total

\$1,345.00

LABOUR CHARGE	QTY	PRICE (\$)	REMARKS
TO CHECK WIRING		\$150.00	30
APPLY ANTI RUST CHEMICAL		\$250.00	60
REMOVE, REFIX AND RENEW EXHAUST PIPE		\$250.00	11 X
REMOVE AND REFIX REAR WINDSCREEN GLASS		\$150.00	120
REMOVE AND REFIX UPHOLSTERY, CUSHION SEAT AND CARPET ETC		\$250.00	80
TO REMOVE AND REFIX REVERSING SENSOR		\$150.00	50
KNOCK DENTS ON REAR DEMAGE PORTION, CUT, WELDING AND RENEW PARTS		\$1,500.00	Sus
TP SPRAY PAINTING EFFECTED PORTION		\$1,500.00	1000

Sub Total

\$4,200.00

Grand Total \$16,100.47

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Compan

Acknowledged by Repairer

Signature:

Date: